

OFFICE OF THE MEDICAL SUPERINTENDENT PEOPLES MEDICAL COLLEGE HOSPITAL NAWABSHAH SHAHEED BENAZIR ABAD

No. MS/PMCHN/SBA/-/124/-43

1.5 June, 2012.

To.

The Manager (Assessment) SPPRA. Govt. of Sindh. Karachi.

Subject:

NIT REF NO:INF-KRY No:856/12 dated 03.03.2012.

Reference:

Lt. No. Dir(A&F)H0114/SPPRA/42-5/11-12/7134 dated May 30th, 2012.

Bid Evaluation Report on standard format of SPPRA along with following documents regarding the procurement of Machinery / Equipment, Furniture / Fixture and Transport (Ambulances) for ADP-Scheme "Establishment of Accident / Emergency Trauma Centre at PMC Hospital Nawabshah" under ADP-2011-12 is sent herewith as desired.

- 1. Copy of NIT.
- 2. List of Successful bidders along with contract amount.

It is added that Technical Evaluation and Comparative statements (Financial) duly signed by the Technical / Purchase Committee for the aforesaid ADP-Scheme has already been submitted which may be hoisted on the Authority's web site.

> Medical Superintendent Peoples Medical College Hospital Nawabshah Shaheed Benazir Abad

Copy forwarded for information to: -

- The Additional Secretary (Development), Health Department. Government of Sindh. Karachi.
- 2. The P.S. Secretary to the Government of Sindh, Health Department. Karachi.

Medical Superintendent Peoples Medical College Hospital Nawabshah Shaheed Benazir Abad

SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

CONTRACT EVALUTION REPORT

1.	NAME OF ORGANIZATION/DEPARTMENT	People's Medical College Hospital, Nawabshah, Shaheed Benazir Abad.
2.	PROVINCIAL/LOCAL GOVT/OTHER	Provincial
3.	TITLE OF CONTRACT	Purchase of Machinery Equipment, Hospital/Office Furniture and other Ancillary Items including Transport (Ambulance) for Establishment of Accident Emergency / Trauma Centre at PMCH Nawabshah.
4.	TENDER NUMBER,	NIT Ref. No: INF-KRY No. 856/12 dated 13.03.2012.
5.	BRIEF DESCRIPTION OF CONTRACT	Purchase of Machinery Equipment, Hospital/Office Furniture and other Ancillary Items including Transport (Ambulance) for Establishment of Accident Emergency / Trauma Centre at PMCH Nawabshah.
6.	FORUM THAT APPROVED THE SCHEME	PDWP
7.	TENDER ESTIMATED VALUE	92.058 (Millions)
8.	ENGINEER'S ESTIMATE (For civil works only)	Not Applicable
9.	ESTIMATED COMPLETION PERIOD (as per PC-1)	Not Applicable
10.	TENDER OPENED ON (DATE & TIME)	20.43.2012(2.00 p.m.) Opening of Technical Bid. 05.05.2012(1.00 p.m.) Opening of Financial Bid.
11.	NUMBER OF TENDER DOCUMENTS SOLD (Attach list of Buyers)	Selling points were more than one. Tenders sold at this Hospital were 14. List from the Govt, not received yet.
12.	NUMBER OF BIDS RECIEVED	53 (Fifty Three)
13.	NUMBER OF BIDDERS PRESENT AT THE TIME OF OPENING OF BIDS.	33 (Thirty Three)
14.	BID EVALUATION REPORT	Copy of Technical Evaluation / Statement duly signed by the purchase committee has already been submitted vide Letter No.10476/78 dated 12.05.2012.
15.	NAME & ADDRESS OF THE SUCCESFUL BIDDER.	Enclosed.

16.	CONTRACT AWARD PRICE	List I	Enclose	ed.			
17.	RANKING OF SUCCESFUL BIDDER IN EVALUATION REPORT (i.e. 1 st , 2 ^{md} , 3 rd EVALUTION BID)	Comparative Statement already submi					submitted.
18.	METHOD OF PROCUREMENT	Single	e Stage-	- Two E	Envelop	Proce	dure.
19.	APPROVING AUTHORITY FOR AWARD OF	CONTR	ACT.	РМС &	cat Sup Host Projec ima Ce	oital N t Dir	ndent, Sawabshah rector of
20.	WHETHER PROCUREMENT WAS INCLUDE.	D EN AN	NUAL	PROC	UREM	ENT F	LAN.
		į	Yes			No	
21.	ADVERTISEMENT.						
	i. SPPRA Website.	Γ	Yes			J	
			No				
	ii. News Papers						
	(If yes give names of Newspapers and dates).		Yes		:	1	
							· —
		-	No				
23	WHETHER QUALIFICATION CRITERIA	Yes	1	J	No.		
	WAS INCLUDED IN BIDDING / TENDER DOCUMENTS (If yes. enclose a copy)			<u>v</u>			<u> </u>
24.	WHETHER BID EVALUATIONM CRITERIA	Yes			No.		
	WAS INCLUDED IN BIDDING / TENDER DOCUMENTS (If yes, enclose a copy)				L——		
	APPROVAL OF COMPETENT AUTHORITY WAS OBTAINTED FOR USING A METHOD OTHER THAN OPEN COMPETATIVE BIDDI		Compe	titive m	rethod	Used.	
26.	WHETHER BID SECURITY OBTAINED	Yes			No.		
	FROM ALL THE BIDDERS.			.			
27	WHETHER THE SUCCESSFUL BID WAS	Yes		\overline{J}	No.	· · · · · · · · · · · · · · · · · · ·	
_	LOWEST EVALUATED BID.		: 	<u>*</u>	<u> </u>		
30	Wateruco fur or ozbocku nukro	Yes			No.		
28.	WHETHER THE SUCCESSFUL BIDDER	1 08		√	.10,		

WAS TECHNICALLY COMPLIANT?

	29. WHETHER THE NAME OF BIDDERS AND	Yes	J	No.		
*. ,	THEIR QUOTED PRICES WERE READ OUT AT THE TIME OF OPENING OF BIDS?	· <u></u>				
	30. WHETHER THE EVALUATION REPORT	Yes	J	No.		
	GIVEN TO THE BIDDERS BEFORE THE AWARD OF CONTRACT? (Attach copy of Bid Evaluation report)	·····	·	· <u></u>		
-	31. ANY COMPLAINT RECEIVED (If yes, result thereof)	Yes.	<u> </u>	No.	J	
	32. ANY DEVIATION FROM THE SPECIFICATIONS GIVEN IN THE TENDER NOTICE/DOCUMEN (If yes, give details)	Yes.		No.	J	
	33. ANY EXTENSION MADE IN RESPONSE TIME? (If yes, give details)	Yes.		No.		
•	34. DEVIATION FROM QUALIFICATION CRITARIA? (If yes, give detailed reasons)	Yes.		No.		
	35. WAS IT ASSURED BY THE PROCURING	Yes		No.	·· .	
	AGENCY THAT THE SELECTED FIRM IS NOT BLACK LISTED?					
	36. WAS A VISIT MADE BY ANY OF OFFICER/	Yes.		No.		
•	OFFICIAL OF THE PROCURING AGENCY TO THE SUPPLIERS PREMISES S IN CONNE WITH THE PROCUREMENT? IF SO, DETAILS TO BE ASCERTAINED REGARDING OF VISIT, IF ABROAD: (If yes, enclose a copy). 37. WERE PROPER SAFE GUARDS PROVIDED ON MOBILIZATION ADVANCE PAYMENTS IN THE CONTRACT (bank Guarantee ETC)?			Bank Guarai	ntee	
	38. SPECIAL CONDITIONS, IF ANY	Yes.		No.	<u> </u>	
	(If Yes, give brief description).			1 - 100	. i	
	39. DATE OF CONTRACT:	under process / Letter of intent issued to the successful bidders.				
	Signature & Official Stamp of Authorized Officer		Jun	<u> </u>		

M. 34 Jude 22/2

ACCIDENT

Ambulance w accessories e kits, Cylinder, resuscitating air - condition

for patients ru emergency ca

Sealed tenders are invited from manufacturers, importers, their authorized representatives, sele distributors / agents & interested firms for the supply of Articles given below for 'Establishment of Accident & Emergency Trauma Centre, People's Medical College Hospital Nawabshah, Shaheed Benazirabad under ADP Scheme for the year 2011-12 as per SPPRA Rules-2010 through ONE STAGE - TWO ENVELOPES PROCEDURE.

Tender/Documents containing detailed specifications, terms and conditions can be obtained from the office of the undersigned and PM8I Cell, Health Department, Government of Sindh, Barrack No. 24, Sindh Secretariat, Karachi, from the date of publication by submitting written request/application against the payment (Non-refundable) of prescribed fee mentioned as under.

The tender must be delivered on or before 20.03.2012 at 01.30 p.m. which will be opened (technical offer/envelope) on the same day at 2.00 p.m. publicly in the presence of the bidders or their representatives who wish to attend.

S. #	Description	Date of purchase of Tender	Date of Opening	Cost of Tender
1	Machinery, Equipments including Supply & Installation of Medical Gases Pipeline System for O2, N2u. Air, Suction with putlet Points & Bedside Paneling System.	From the date of Publication	20.03.2012	3000
5	Höspital Furniture, Office Furniture & Ancillary Items including Electric Generator.	do	20.03.2012	2000
3	Transport (Ambulance Vehicles with accessories).	— do	20.03.2012	500
4	Linen Articles.	— do	20.03.2012	500

IMPORTANT INSTRUCTIONS

- All the bids must accompany 2.5% Bid Security (refundable).
- Bids must be in Pak Rupees
- All bids must include all Govt. Taxes including GST, if applicable. In case Govt, declares/announces public holiday on the date of opening of tender, the tendors will be opened on the next working day. No lender will be issued on the date of opening.

Medical Superintendent Peoples Medical College Hospital Nawabshah, Shaheed Benazirabad

INF-KRY No. 856/12

SMOKING IS HEALTH HAZARD AND PROHIBITED AT PUBLIC PLACES UNDER THE NON-SMOKING HEALTH ORDINANCE 2002

Environment Department Government of Sindh

Applications are invited from suitable candidates domicited in Sindh for appointment on the following vacancies in Annual Development Program Schume "Planning and Monitoring Cell in Environment Department" on contract basis for the period of three years:

Sr. No.	Position	No. of Posts	Age	Qualifications	Place of Posting
1.	Project Manager	1	45-S0	MBA / Masters in Environmental Science / Environmental Engineering / Environmental Management proferably with additional qualification in Professor Management from a reputable University having 8 years of experience in the field of Profect Planning, Monitoring and Implementation in Private & Public Sector.	Karachi
2.	Deputy Director (Env.)	1	30.40	M.Sc in Environmental Science / Environmental / Engineering / Environmental Management from recognized University with at least 5 years experience.	Karachi
3.	Assistant Director (Env.)	1 .	25-3 0	Master in Environmental Science / Environmental Engineering / Environmental Management from a recognized university. Preferably with two years experience in the relevant field.	Karachi
4.	Office Assistant	2	25-30	Graduate at least 2nd Division from a recognized university.	Karachi
5.	Data Processing Assistant	3	25-30	Graduate at least 2nd Division from a recognized university with one year diploma in Computer Science.	Karachi
6.	Junior Cierk	2	125-30	Intermediate with typing speed of 30 w.p.m. and computer knowledge.	Karachi
ž.	Driver	1	25-35	Literate with possession of valid LTV/HTV driving license. Having experience in driving in Karachi.	Karachi.
8.	Naib Gasid	2	25-35	Literate.	Karachi

- Applications alongwith bio-data providing Name, Father's Namio, Date of Birth, CNIC No., Domicilo, Postal Address, Educational qualification ε Experience shfulld reach too office of the Doputy Secretary, Environment Department, S F2-1, ETA Complex, Sector 23, Koraegi Industrial Area, Karachi, within 15 days of the publication of this advertisement.
- Incomplete applications and those received after due date will not be considered.

 Attested copies of certificates / testimonials, domicile certificate, PRC, CNIC and two recent photographs should be attached with application.
- The post applied for must be clearly marked on the top left corner of the envelope. No TA/DA shall be admissible for lest / interview.

INF-KRY: Nn. 877/12

SMOKING IS HEALTH HAZARD AND PROHIBITED AT PUBLIC PLACES UNDER THE NON-SMOKING HEALTH DRDINANCE 2002

Sylvary
Environment Department
Government of Sindh

OFFICE OF THE EXECUTIVE ENGINEER PROVINCIAL HIGHWAY DIVISION HYDERABAD

Seated Tenders on Form B-I are invited as per PFRA Rules-2004 from the interested persons / confractors / companies / firms for procurement of

5. N	a.	Name of Work	Tender Gust	Earnest Money	Tender Fee	Complete Period
1		Const. or road Meyo Knasimen to Gonj Bahar via village Lashari Mire 0/0-1/7.	15,060(M)	0.300b(M)	0.b030(M)	10 Mon
2	- i	Const. of road from Bachará to village úzma Hingoro Ťaluka Bulri Shah Karim Mile 0/0-1/7. Const: of Hoau from Rind Oil Field Sim Nala to villago Mitho Taluka Tando	15. 000 (M)	Q.3000(M)	0 .0030(M)	10 Mon
3		Const: of Hoad from Millo Oil Field Sim Nata to Wage Millio Taluka (2000) Ghisam Hyder Milo 0/0-1/7	15, 11 00(M)	b.3000(M)	p.0035(M)	10 Mgg



ٽينڊر نوٽيس

الكسيدنت ايند ايمرحنسي تراما سينتريبيلز ميديكل كاليع اسبخال الكسيد اسبخال الكسيد الله الدائل الدائل

ٽينڊر دستاويزن تي ٻڌل اسپيسيفڪيشن ۽ ٻيا شرط ۽ ضابطا هيٺ صحيح ڪندڙ جي آفيس ٻي اير اينڊ آء سيل. صحت کاتو حڪومت سنڌ بيرڪ نمبر 24 سنڌ سيڪريٽريٽ ڪراچي مان هن اشاعت جي تاريخ کان وٺي لکت ۾ درخواست ڏئي هر هڪ ڪر آڏو ڄاڻايل ئي (ناقابل واپسي) جي ادائيگي تي حاصل ڪي، سگهجن ٿا

ٽينڊر 2012~03-20 منجهند (1:30 وڳي تائين واپس موصول ٿيڻ گهرجن. جيڪي(ٽيڪنيڪل آڇون/لفافو) ساڳئي ڏينهن منجهند 2:00 وڳي آڇون ڏيندڙن يا سندن مجاز نمائندن جي موجودگي ۾ کوليا ويندا

تينبر	كولڻجي تاريغ	ڻينڊر خريد ڪرڻ	تفصيل	نعبر
قيمت		جي تاريخ		L
3000	20-03-2012	اشاعت جي	مشبئري اکيرپمينت. O2, N2o ايئر	1
		تاريخ کان ً	سڪشن لاءِ آثوٽ ليٽ پوائنٽس ۽	
			پینلنگ سسٹر بید سائیت پر میدیکل	
i		:	گيسز ڀاڻيب لائين سستر جي فراهمي ۽	
i		!	تصيب	!
2000	20-03-2012	ساكيو	اسپتال فرنپچر. آفیس فرنیچر ۽ ايندڪلري	2
		•	آئشمز گذرگذ الكخترك جنريتر	
500	20-03-2012	ساگيو	ترانسبورت (ابمبولينس گاذيون سامان	3
		;	سان گذ)	
500	20-03-2012	ساكيو	لينن آرٽيڪاز	4
	20, 01-2014		· ······ · · · · · · · · · · · · · · ·	· · —

خاص هدايتون:

- سمورين أچن سان گڏ 2.5 سيڪڙو بد سيڪيورٽي (قابل واپسي) شاما هڻڻ گهرجي.
 - آڇون لازمي طور پاڪستاني روڀين ۾ هئڻ گهرجن.
- سمورين آچڻ ساڻ گڏ هر قسم جا سرڪاري ٽيڪس/جي ايس ٽي لاڳو هدنده
- نينڊر کولڻ واري ڏينهن تي حڪومت طرفان موڪل واري اعلان جي صورت ۾ ساڳيا نينڊر ايندڙ ڪر ڪار واري ڏينهن کوليا ويندا، کولڻ واري ڏينهن ڪوب ٽينڊر جاري نہ ڪيو ويندو

منحيح

میدیکل سپریتنیندتت پیپلزمیدیکل کالیج اسپتال نرابشاهر شهید بینظیرآباد

سگريٽ ڇڪڻ کان منع ڪرڻ واري صحت ارڊيئنس 2()()2 تحت عوامي هنڌن تي سگريٽ ڇڪڻ صحت لاء هاچيڪار ۽ منع آهي

Z.

List of Succesful Bidders in Machinary / Equipment Tender opened on 20.03.2012 for Accident / Emergency Trauma Centre, PMC Hospital Nawabshah, SBA under ADP-2011-12

	SBA under ADP-2011-12								
Item #	Description of Store	Qty	Unit Price	Amount	Bidder				
6	Digital Color Doppler System For Radiology	1	3,195,000.00	3,195,000.00	M/S All Med Solutions				
· 2	Radiography X-Ray 630 mA (D.R. System).	1	10,400,000.00	10,400,000.00	M/S BIOS				
4	Mobile C Arm With 9-Inches Image Intensifier	1	4,250,000.00	4,250,000.00	M/S BIOS				
_ 	Lead Apron With Thyroid Protection.	10	19,500.00	195,000.00	M/S BIOS				
2	Central Control Unit. (Central Monitoring System).	2	898,000.00	1,796,000.00	M/S BIOS				
3	Multi-Parameter Patient Monitors.	19	324,000.00	6,156,000.00	M/S BIOS				
8	Transport Ventilator.	1	730,000.00	730,000.00	M/S BIOS				
	Suction Machine Heavy Duty.	12	147,000.00	1,764,000.00	M/S BIOS				
9	Portable Suction MachineSingle Jar.	13	79,000.00	1,027,000.00	M/S BIOS				
4	Defibrillator With Built-In Monitor, Recorder	2	622,000.00	1,244,000.00	M/S Biotech Pakistan				
5	ECG Machine.	6	144,000.00	864,000.00	M/S Biotech Pakistan				
4	Electrolyte Analyzer	1	395,000.00	395,000.00	M/S Diagnostic Systems				
7	Microscope.	4	60,000.00	240,000.00	M/S Diagnostic Systems				
1	O.T. Table (Local).	2	48,880.00	97,600.00	M/S Doctor's Enterprise				
12	Flow Meter.	12	10,500.00	126,000.00	M/S Eastren Medical				
2	Electro-Hydraulic O.T. Table.	2	1,900,000.00	3,800,000.00	M/S EM Tech				
1	Biochemistry Analyzer (Auto Analyzer):	1	1,945,000.00	1,945,000.00	M/S Lab Link				
3	Hydraulic Operation Table.	2	495,000.00	990,000.00					
4	Mobile O.T. Light.	2	174,000.00	348,000.00					
5	O.T. Ceiling Light.	4	549,000.00	2,196,000.00	M/S Life One				
17	Autoclave for minor Theature.	1	395,000.00	395,000.00	M/S Life One				
9	Pulse Oximeter With NIBP.	3	125,000.00	375,000.00	M/S Muslim Med Services				
6	Centrifuge Machine (DIGITAL).	2	115,000.00	230,000.00	M/S Muslim Trad Agencies				
8	Water Bath.	4	99,000.00		M/S Musiim Trad Agencies				
9	Hot Air Oven.	1	155,000.00	155,000.00	M/S Muslim Trad Agencies				
10	Laboratory Incubator.	11	195,000.00		M/S Muslim Trad Agencies				
2	Semi Automatic Chemistry Analyzer.	1	490,000.00	490,000.00					
3	Blood Gas Analyzer.	1	990,000.00	990,000.00					
1	ICU Ventilator With Built In Compressor.	4	1,975,000.00	7,900,000.00					
6	Infusion Pump.	4	114,000.00	456,000.00					
7	Syringe Pump.	4	105,000.00	420,000.00	M/S Noor International				



6	Anesthesia Machine	4	1,975,000.00	7,900,000.00	M/S Noor International
_ 7	Surgical Diathermy.	4	590,000.00	2,360,000.00	M/S Noor International
10	Nebulizer.	4	4,300.00	17,200.00	M/S Pak Traders
_	Emergency Trolley	1	32,000.00	32,000.00	M/S Pak Traders
<u>11</u> 13	Ambo Bag.	1	12,000.00	12,000.00	M/S Pak Traders
10	Surgical Instrument Set.	4	68,000.00	272,000.00	M/S Pak Traders
11	Surgical Instrument Set For Orthopedic O.T.	2	70,000.00	140,000.00	M/S Pak Traders
12	Instrument Trolly, Indiginous	6	13,700.00	82,200.00	M/S Pak Traders
13	Nailing Set. Indiginous Or Imported	6	695,000.00	4,584,000.00	M/S Pak Traders
14	Orthopedic Dril. Good Quality	1	664,000.00	664,000.00	M/\$ Pak Traders
15	Plaster Cutter. Indiginous Or Imported	2	88,000.00	176,000.00	M/S Pak Traders
16	Autoclave Large Horizontal.	1	1,450,786.00	1,450,786.00	M/S Roughy Sons
5	Hematology Analyzer.	1	568,000.00	568,000.00	M/S S.K. Trading Co
11	Blood Bag Refrigerator.	1	525,000.00	525,000.00	M/S S.K. Trading Co.
R.	Mobile X-Ray Machine.	1	1,935,000.00	1,935,000.00	M/S S.M. Trading Co.
5	Ultrasound Machine.	1	697,500.00	697,500.00	M/S S.M. Trading Co.

List of Succesful Bidders in Hospital & Office Furniture & Ancillary Items including Electric Generator for Accident / Emergency Trauma Centre, PMC Hospital Nawabshah, SBA

(Tender opened on 20.03.2012) under ADP-2011-12

S.No	Description of Store	Qty	Unit Price	Amount	Bidder
1	Fowler Beds.	124	34,615.00	4,292,260.00	M/S A to Zee
_ ' _2	ICU beds	16	46,155.00	738,480.00	M/S A to Zee
4	Bed side Table:	140	7.690.00	1,076,600.00	M/S A to Zee
5	Drip Stand: 1¼ stainless steel 16 gauge 304 pipe with heavy duty stailess steel base. Local good quality.	20	5,800.00	116,000.00	M/S A to Zee
8	Over the Bed Table:	124	6,150.00	762,600.00	M/S A to Zee
11	Linen Storage Trolley. Local good quality.	5	10,900.00	54,500.00	M/S A to Zee
14	Bed side Benches.Local good quality.	20	6,150.00	123,000.00	M/S A to Zee
15	Examination Coach, Local good quality.	8	9,900.00	79,200.00	M/S A to Zee
17	Revolving Stool. Local good quality.	10	2,150.00	21,500.00	M/S A to Zee
19	Mobile Partition. Local good quality.	20	5,300.00	106,000.00	M/S A to Zee
7	Wheel Chair. Local good quality or imported	5	9,200.00	46,000.00	M/S Pak Traders
21	Audiovisual System (Multimedia).	1	78,000.00	78,000.00	M/S Pak Traders
22	Refrigretor: 12 CFT, No frost (Domestic)	5	41,000.00	205,000.00	M/\$ Pak Traders
23	Water cooler Electric: (35 Gallon Capacity)	4	42,000.00	168,000.00	M/S Pak Traders
25	Desk Top Persopnal Computor with LCD Monitor & Laser Printer along with UPS.	2	65,700.00	131,400.00	M/S Pak Tragers



32	Electric Generator 100 KVA. (Skid mounted Electric	1 1	2,745,000.00	2,745,000.00	M/S Pak Traders
	Generating Set (Gas Operated) 3 phase 4 wire, 400/230	.	1.		
	volts, 50 Hz, 1500 rpm with acoustic canopy (sound &]		İ	
	weather proof). Supply & installation along with change				
	over & cabling. Origin: EEC, UK, USA, Japan				
, 6	Strecher Trolly (Tiltable) Local good quality.	10	23,075.00	230,750.00	M/S Shamim & Co
9	Dressing / Treatment Trolley, Local good quality.	5	6,925.00	34,625.00	M/S Shamim & Co
13	Crash Carts (Trolleys) Local good quality.	4	38,465.00	153,860.00	M/S Shamim & Co
3	Mattresses: Foam Mattresses size 6'.6"x3'x4" with Rexene cover (Master Molty Foam or equivelent)	124	7,200.00	892,800.00	M/S T.K. Medical
16	Office Table. Local good quality.	10	12,700.00	127,000.00	M/S T.K. Medical
18	Revolving Chair. Local good quality.	10	6,700.00	67,000.00	M/S T.K. Medical
26	Airconditioner Split Type 01 Ton indiginous/imported	30	52,700.00	1,581,000.00	M/S T.K Medical
27	Chairs for meeting Hall	25	4,500.00	112,500.00	M/S T.K. Medical
28	Rostrum	1	16,000.00	16,000.00	M/S T.K. Medical
29	Iron Beds for Recovery Room: Local good quality.	8	41,000.00	328,000.00	M/S T.K. Medical
31	Doctors Room Furniture. (set consisting of)	14 sets	63,800.00	893,200.00	M/S T.K. Medical

List of Successful Bidders in Tender for Transport (Ambulances) for Accident / Emergency Trauma Centre, PMC Hospital Nawabshah, SBA (Tender opened on 20.03.2012) under ADP-2011-12

•	Ambulance Un – Used, Un Registered Brand New (Van) Petrol / CNG RHD 1000 cc, Air Conditioner, Heater, Radio, Tape, Lighter, Clock, Mud Flaps, Foot Mats, Steering Cover, Floor Carpet, Driver Seat Belt. Color White, Model 2012 Ambulance Medical Fitting Accessories	3	1385000 / Unit. Price Reduced to 1333000/Unit	3,999,000.00	M/S Pak Traders
---	--	---	---	--------------	-----------------

